Teaching Materials - 15
Stimulus Materials
British Airways announced job losses of 5800. With the business losing over £2 million a day some had feared that the cuts would top 7000. Some analysts are predicting that over the next three years as many as half of the 51000 employees of the company will face redundancy. The job loses announced this week will cost the airline at least £200 million in restructuring costs but will result in annual savings of £650 as from 2005. Executives’ stress that if drastic action is not taken the company will face its biggest financial loss since it was privatised fifteen years ago. The new ‘size and shape’ plan is designed to bring the long haul carrier back to profitability within two financial years. The main target of the cuts is to bring the cost base under control and return to the ten per cent operating margin it once achieved.

The company will be aiming to ‘poach’ some of the short haul, no-frills business that the low-cost lines have taken from the traditional providers. The company is to be changed into a ‘simpler, leaner, more focused airline, that can prosper in the competitive market. Five long-haul jets are to be sold, and sixteen of its short haul aircraft will be transferred from Gatwick to Manchester Airport. Capacity at Gatwick will fall by 53%. 

The theory

Once again we are firmly in the area of the specifications marked costs. BA is desperate to cut costs, so allowing them to charge smaller proportions to each profit centre within the business. They are trying to reduce debt (gearing ratio and interest coverage) and the charges that this imposes and as they constantly refer to the ‘bottom line’ the senior management want to expand margins, return to profitability and pay attractive dividends. The latter will keep and encourage new investors. In particular a company such as BA needs to maintain and build its capital sums received from the big, institutional investors eg pension funds and assurance/insurance companies. They will also want to retain higher internal generated capital flows, as this will allow them to expand without incurring debt charges.

The market for their products is complex but it has fallen. However, the transatlantic routes, elsewhere they have been hit by low-cost competitors. So, they are going to re-focus their business on the core products they feel most confident with. Peripherals will be cut and probably sold to others or simply shut down. There will be short run cost increases in the re-structuring costs as they downsize and reduce full time high cost members of staff. However, they must maintain the skills base needed to operate such a large business and this we need careful targeting of re-training packages. The unions want voluntary redundancies to be the main way of shedding staff and hope that these will be spread over two years. They also hope that the job loses will be equitable in distribution and not heavily waited to low grade workers. They also note that the cuts announced only talk of permanent staff and they fear the temporary posts will also receive ‘the axe’. Those retained will have to accept greater flexibility in their working conditions and practices. 

Of course BA’s competitors will not simply stand back and let this strategy succeed. Watch out for Virgin Atlantic making announcements about its quality service across to JKK Airport. They have already stepped up their advert campaign in recent weeks.  Ryanair will watch to see how BA reacts to short haul competition and then strike back where its routes cross over those offered by BA. The carriers all have a relatively set level of capacity, so they need to get their payload (break-even levels) up as soon as possible. Assets are being shuttled around in an attempt to build income streams and changes in technology have made BA accept that customers now expect online booking.

It’s going to be tough to turnaround this once mighty organisation. Staff will need some morale boosting news soon, else motivation will fall even further and labour turnover rates will soar.

If the plan is to succeed that next two years will need to see very positive advertising elasticity, asset marketing of the most successful variety and some spectacular returns on management decisions. The corporate culture of BA will be tested by all the bad news days it is bound to pass through. Watch this space for further developments.

Some useful web sites

www.british-airways.com – the official site of British Airways

www.bavirtual.co.uk -  virtual airline and MS flight simulator

www.bashares – the site for investor information on the airline.

Some questions

1. Explain what is meant by (a) a dividend and (b) downsize

2. Using examples analyse what might become the core products of the leaner and simpler BA.

3. How might BA encourage some of its employees to consider voluntary redundancy?

4. Why might BA corporate culture be tested in the coming months and how might management attempt to minimise any adverse reactions amongst employees?

5. Evaluate the ways in which BA can reduce (a) its debt payments and (b) its route coverage.

Guide answers to last weeks questions.

1 (a) barriers to trade – these are artificial ways of interfering with the free movement of trade. They can include tariffs, quotas, control, rules and regulations, procurement contracts and licences.

  (b) this is a quality or perceived advantage that a product has that differentiates it from its closest rivals.

2. The main differences are in the number of shareholders, the need to publish accounts and the availability of shares to the general public.

3. Convenience, ease of storage, availability of spares and other after-sales facilities,  methods of payment and guarantees for servicing by expert technicians and replacement parts.

4.They need to maintain advantages in the ways they acquire and use the factors of production. So,

· land/resources – adequate supplies, price paid, storage and distribution, energy prices.

· Labour- correct amounts, correct qualities, flexibility, skills

· Capital – access, amounts, flows, costs and inward investment.

· Organisation/Entrepreneur - culture, risk reward, tax regime, R and D expenditure, innovation/knowledge culture.

.

5. When the pound strengthens it causes exports to rise in price as buyers have to exchange more of their currency to buy the necessary amounts of £’s. Imports will become cheaper and might hurt the performance of some UK based manufacturers and service providers. If exports are price sensitive then they might find their market share falls.

